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[1 I String sgl1 = "Oupdate useraccount set monery=monery-1000
where name=username".String sgl2 = "Oupdate sysaccount set
monery=monery 1000 where name=sysname". L [0 [ O 0O O O [
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conn=DriverManager.getConnection("...").//0 0 0O O O
conn.setAutoCommit(false).//0 0 O 0 OO O O stmt=



conn.Create.... String sgll = "Oupdate useraccount set
monery=monery-1000 where name=usename". String sql2 =
"Oupdate sysaccount set monery=monery 1000 where
name=sysname". stmt=conn.createStatement().
stmt.executeUpdate(sqll). stmt.executeUpdate(sql2).
conn.commit().//00 O O O O }catch(SQLEXxception e){
conn.rollback(). /0 000000000 OOOOO
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e.printStackTrace(). } finally{ if(stmt!=null){ stmt.close(). }
If(conn!=null){ stmt.close(). } } 100Test U L D O OO O OO OO
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